EARAZROREIERT — 2 N— XBISY —F 2020528110 (&) 11[E#RIE2H

WER Y - F5 9y [4—9KR—Z] AR v ¥5F%—# ‘ [®1g] w5 ‘ [BERE] - | 4 (k) 16000 B
[A&4) 1 7 :2,400,000 @ 2 7 :960,000 @ . 33 :600,000 4 3% :360,000 3 ~ 5 7% :240,000 [
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
==y . #o7 | mEF 1:42.2 6-6-4-2 |38.3| — 1 534 | EEEAK (#A18)
17|77/ 5.5 (=) gy | R JNTFL—$5TLy KR
L:hrexU BTUHELYT KT 7 — L
3 s # o4 | AHES 1:42.9 1-1-1-1 | 40.4| — 3 521 | WTFEZ (faf)
2 10 TNREAH— 56.5 3) +7) BANEE
R:r—775>0 BYUAAFAIZR TS
o (PN : -10-10- - FRSE (AafE)
s o | LAY —/NX # 8 | B2 1.(1%.4 10-10-10-8 | 39.7 4 (4_611) mHs
RiFkvvH/EER BZL/ T AFN B R
- i g 4 5 | SHIEX 1:44.4 8-8-5-5 |40.2| — 8 418 | IUEE (048)
4 3| TRATATLAE 56.5 (7€) o |.® IXF(77—k
Ribh—t>TF4 8 B:T77E-H RS IXT177—L4
- # o5 | FERES 1:44.6 7-7-7-6 | 40.2 | — 10 | 420 |HERERA (AatE)
5 9| YW U= 56.5 ) (-5) | EEEAR ;
A1 agR—5— B:H-INZZXb=1— LRGikse]
= 5B 144, -9-8- . — SEARFTA (115
5 6| 7T 5 L (11 414/28) 9-9-8-7 | 40.2 5 (5_011) %
L:dr—30T7r B:V-3—-TJ1Y3> FFIRAS
R EmE . £ _ HEA(ETE (AHE)
d 1+ MERPEI VR o4 (12415/233 YoEa e ! &0) EDIUN
R:TFRA78— B:V—-H—-byT5> W A
o o 9 o > FRBZ : -11-11- - wBEHK (&)
817l g | H1 > brsarx— t> 9| BER 1.(425).7 1-11-11-11 40.4 1 (5_214) b
R:aAv> X B:SyvahvE— H—L— - TvIS> - T7— LERSE
o s 4 | I3 1:46.2 2-2-2-3 |42.9| — 2 435 | FIHEE (MafE)
911|727V A/NNTx 54.5 @ 1/2) o | 8 LAis
R:FHYTTIRE B:UUIFNA-F HEE (-
on ETEREA 147. -4-8- . — KEHHEE (B
wlsls|¥=s7L37A 44 = 1(467)4 4-4-8-10 | 42.8 6 (4_537) et
R:Z2bAYTUE—> BAY—<23INT4— e BAE
. . ft 5 | WOEHR 1:47.4 3-3-3-9 |43.6| — 9 479 | WIEA (#348)
1811 Y=/ A b=> 54.5 7€) Ly |FHEU2a
L:2v—hAEY BYLINTIT— A HEER
® 1 —F—EBIERL
13—7— 10,1,11,5,4,7,9,3,6,2,8
20—F— 10,1,11,5,4,7,9,3,6,2,8
BEE 10,1,11,7,(3,4),9, (5,6) ,2,8
43—F— 10,7,1,4,3,9,6,2,11,5,8
[ N3
B O 7 210H 714K 7-10 290M e 6-8 430 3JEHE 2-7-10 1,320
8 B 7 1209 2-7 260M B 6-8 720M K31 7-10-2 4,030
10 1509 2-10 530M B E 7-10 600
2 1304 B H 7-10 920M

ARICOVWTRDTEEERROODE. TR LI,



